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Choose the correct answer: 

Question    Which of the following graphs represents the function 𝑦 =
1

2
𝑥 − 1 ? 

 

a)  

 

b)  

 
 

c)  

 

d)  

 

 

Question    An equation that does not represent a straight line is  

a) 𝑦 = −2 

b) 𝑥 = 1 

c) 𝑦 = −2𝑥 + 8 

d) 𝑦 = √𝑥 

 

 

Question ③  The first term in the binomial expansion of  (2𝑎 + 3𝑏)4 is 

a) 8𝑎4 

b) 16𝑎4 

c) 81𝑏2 

d) 12𝑏3 

Question ④   The sum of the terms of the infinite sequence 5, −
10

3
,

20

9
, −

40

27
, … equals 
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a) 
1

3
 

b) 3 

c) 
1

6
 

d) 1 

 

Question ⑤  The value of 𝑚 such that the quadratic equation 2𝑥2 − 𝑚𝑥 + 8 = 0 has two equal roots 

is:  

a) 2 

b) 4 

c) −4 

d) −8 

 

 

Question⑥   The line 𝑦 = 3𝑥 + 5 is parallel to the line: 

a) 𝑦 = 𝑥 + 5 

b) 𝑦 = 𝑥 − 5 

c) 𝑦 = 3𝑥 − 1 

d) 𝑦 = −𝑥 + 5 

 

Question ⑦  The intersection between the two lines 𝑦 = 𝑥 − 1 and 𝑦 = 1 − 𝑥 occurs at 𝑥 = 

a) 1 

b) 0 

c) 3 

d) −1 

 

Question ⑧  If 𝑦 = (𝑥3 + 1)4 , then 
𝑑𝑦

𝑑𝑥
 is 

a) 4𝑥2(𝑥3 + 1)3 

b) 12(𝑥3 + 1)3 

c) 12𝑥2(𝑥3 + 1)3 

d) 4(𝑥3 + 1)3 

Question ⑨  In Question No. 8, 𝑦′(0) is 

a) 0 

b) 12 

c) −5 

d) 4 

Question ⑩  A triangle ABC has side lengths AB = 6 cm, AC = 5 cm, and BC= 4 cm. Then cos(A) 

equals 

a) 
4

3
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b) 
3

4
 

c) −
3

4
 

d) −
4

3
 

 

Question ⑪  The sum of  1 + 3 + 9 + ⋯ + 243 is:  

a) 360 

b) 365 

c) 363 

d) 364 

 
 

Question ⑫   The value of  
(9)

1
2(6)−1(2)

3
2

(9)−2(3)2  is 

a) −9 √2 

b) 9 √2  

c)  
9

√2
  

d) −
9

√2
 

 

Question ⑬  The domain of the function 𝑓(𝑥) = √2𝑥 − 1 is given by 

a) [
1

2
, ∞[ 

b) [2, ∞[ 

c) ] − 2, ∞[  

d) [−
1

2
, ∞[   

 

Question ⑭  The algebraic solution of the equation 𝑥
3

2 = 27 is 

a) {3} 
b) {−3} 
c) {9} 
d) {−9} 
 

Question ⑮   The set of solution of  |𝑥 − 1| ≤ 2 is 

a) [−1, 3] 

b) ] − 1, 3[ 

c) ]1, 3[ 
d) ] − 1, −3[                                                                                     
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